






































 ∶ 𝐻 → 𝑇  𝐻  𝑇

𝑰 ∶
𝐻 → 𝑳, [𝑰]















→ 𝑉
𝑉 → 𝐿

𝑉 × 𝐸 → 𝑉
𝑉 → 𝑉 × 𝐸
𝑉 → 𝐸

𝑉\{ }



( )
𝑣 = → (𝑣)

(𝑣) → 𝑣 =

 ( (𝑣, 𝑒))

( (𝑣, 𝑒)) = (𝑣, 𝑒)

( (𝑣)) = 𝑣

( (𝑣, 𝑒)) = 𝑒





𝑣 = {(𝑒1, 𝑡1), … (𝑒𝑖, 𝑡𝑖)| 𝑎 𝑡𝑗 }



𝑉 × 𝐸 𝑉 = { 𝑒𝑖 , 𝑡𝑖 , … }

𝑣 𝑒

𝑉 𝑣′

= 𝑣 = 𝑣′𝑣′

=
𝑣 = 𝑣′\ 𝑒𝑗 , 𝑡𝑗 ∧ 𝑒 = 𝑒𝑗 ∧ 𝑒𝑗 , 𝑡𝑗 ∈ 𝑣′

∧ ∀𝑖 𝑒𝑖 , 𝑡𝑖 ∈ 𝑣′ ∧ 𝑖 ≠ 𝑗 : 𝑡𝑗 > 𝑡𝑖















( (𝑎)) = 2 ∗ (𝑎)

( (𝑎)) = 2 ∗ (𝑎) + 1





𝐴, 𝑅
𝐴

𝑅 𝐴

𝑅 ⊆ (𝐴 × 𝐴)





𝑅



𝐴, 𝑅 𝑅 ⊆ (𝐴 × 𝐴)

𝑅 ⊆ (𝐴 × 𝐴)

𝑅′ = 𝑅 𝑈 (𝑅 ∘ 𝑅)
𝑅 ≠ 𝑅′

𝑅′ = 𝑅𝑇



𝐴, 𝑅
𝑟

𝑟

 𝑎 ∈ 𝐴 \ {𝑟}

 𝑎 ∈ 𝐴 \ {𝑟} 𝑟





𝐴, 𝑅 𝑅









(𝑎1)

(𝑎𝑁) = (𝑎1) + (𝑁 − 1) ∗ 𝐻




